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Part [: Multiple Choice

1-Heare 15 the startof a class declaration

clexy fin

;

Jlf'i'll‘-'lli L
vaid v i
vl ¥ e t‘g"-‘,ri' Wi _II’; 2
s 7] h,-uﬁ CORA;

Which of Tbg three member funcions can alter the PRIVATE member varnables of the foo
object that agtivates the function?

& Only <gan alter the private member vanables of the objeet that activates the lunction,
b

Only v cam alter the private member variables of the object that activates the function.

Only z can alter the privasemember variables of the object that actvates the function.
/ Two of the functions can alter the private member variables of the ahject that
Hctivates the function

& Allef the functions can alter the private member vanables of the abject that activares
‘the function.

2- Is 1t possible for 2 member function of a class to activate another member fimction of the
same class”

a. Mo,
b ¥Yes, but only public member functions
Yes, but only private member functions.

Yes, both public and private member functions can be activated within another
amber funcoon.
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3- Cun two classes contain member fimetions with the same name?

a  DNo

b, ¥es, but only if the two classes have the same name.

. Vs, but only if the man program does not declare both kinds
@Yea: this 15 always allowed,

4= What 15 the primary purpose of a defaolt constructor?

4. Toallow multiple classes to be used in a single program
To copy an acmal argument to a funcrion’s parametar.
#Ta imialize each ohject as it is declared.
T'o maintain a count of how many objects of a class have been creatad.

5= Suppose that the foo class does not have an overloaded assignment operator. What
happens when an assignment £=b. 18 given for two foo objects?
— <

I'he automatic assignment aperator is used
The copy constructor 13 used

€ Compiler atror

d  Run-tumef@rror

6~ When should wou use a const reference paramaeter?

a.  Whedever the data type might be many byvtes.
b, Whenever the data type might be many bytes, the function changes the parameter
wthin its body. and vou do NOT want these changes to alter the acrual arsument,
(‘;\ AWhemever the data type might be many bytes, the function changes the parameter
ithin ig body, and vou DO want these changas to alter the actual argument,
d Whepever the data type might be many bytes, and the funcion dees not ghange the
parametet within its body: '

7= Hera 15 a small fumetion definition:

vorre! fiad §, ant gk
{

S=4:

e

g
v

Suppose that a mam program has two nteger variables x and v, which are given

the value & Then the man program calls fixy); What are the values of x and v
after the function £ fitishes?

a  Bothx and v are still 0.

h_ xisnow 1, buryisstll 0.

e A x5 shll O, but v s now 2
% 1snow |, and v ig now 2.
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8- Here s a function prototype and some possible function calls:

dnt oy _of weekdnt pear, ind month — 1 6 day = 1)

2 Poawsila

w Sk tion calis;

T fllrifl-'__i'f,l’;_'il'i'i'-!.'I' A
et < dgyof week DS
ol < e o weef SRS

ot <<l ey of weekd 1993, 18, 4
How many of the function calls are lesal?

4. Mone of them are lepal
h. | of tham is legal
2 of them arg legal
@3 of them are lagal
. All of them are legal

9- Which kind of funchions can access private member vanables of a class”

a. - Frend funchogns of the class
b Provate member functions of the olass
= Public member functions of the class
d.5/All of the above can access private member variables
& None ofthe above

10- Suppose gursor points to 1 node in a linked list (using the node definition with member
functions called data and hink), What statement changes cursor so that it points to the next
node? '

i cursertt,
b curser - link( ),

C—. curs@r = linky ):
(ﬁ ! pursof=gursor-=link{ ).

—
11- Suppose cursor peints to a node in a linked list {using the pede definition with member
funcoons called data and TinkY What Boolesn expression will be true when cursor points fo
the tal node of the list?

8 {oursor == NULL)
:curmr-.‘-‘aljnk[']l N1JLL)
“{eursor-=datal )= KIILL)
d. (cursor->datal ) =0.0)
g. None of tha aboe.

12-. Why dees our node class have two versions of the ink member function?

& One s public, the other 18 private.

b, One is to use with a const pointer, the other with a regular pounter.
.~ One returns the forward link, the other retums the backward link,
¥One returns the data, the other retums a pointer to the next node,
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13- Suppose that {15 a pointer variable that contains the NULL pointer. What happens if
YOLUT program ties o read or write *p”?

o A symrax error always ooours at commlation hirmie
é) A run-time error always accuars when *p s evaluated.
A run-tume arror alwavs occurs when the prosram fimshes,
d. The results are unpredictable,

14- Suppose that Tis a function with a prototype like ths:

veried LTS e
A Procamdition; fuwad e 15 o beod pedvier for a faked Qe
& Pogteonginon: Tie fimetion Flias done some compiiaion wiil
e Dignkeed Bisd, Band phe Jint itsed i aonetfnaged,

What is the bast data type for head ptr in this function?

A node
b const noda
nde*

A /&vnst noga™

15- What is the output of these slatements, usig your sequence ALY T implemented as a
Livked list with Ltz defined as wnteger

VENIRIETICE X
SEQUEnce |
vinsert(d s B fnseris 41 into (e sequesce x

Xanseriid 200 faperiy 42 3o thal wis pow 42 40 with cuesor &t front
8 i
riltachid3is A laehes 43 so that o i pow 42, 43, 31 with corsore ar J38

ooty B
il < T I8 T < v slzed
cond <= Vil v cnrrent i 0s Y poirreniy ) Sl

4. v size 18 2 and v current em 15 41

C1 RN FcE ?.andv.- Gurrent iem 15 43
. au¢151mdvcmrmuemmdl
d. v size s 3 and v current wem i3 43
g, Mone of the above,

16- Suppose that vou forget to overnide the assignment aperaior in your sequence ADT
implemented as a linked list. What is the mostdikely output from the previous question?

v siz2 s 2 and v current item s 41,
v size 13 2 and v current item 1s 43
v aize 15 3 and v current item 15 41
v 51w 15 3 and v current item s 43,

@ Mome of the alwve

L.oOp
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17- What kind of list 15 best to answer questions such as "What 15 the item at position n?"

a.  Lists implemented wath an array
b, Doubly-linked lists.
¢ Single-linked hsts,
(@3 Doubly-linked or singly-linked lists are equally best

18- What 15 the primary purpose of tamplatz functions?

{y Tar allow a single function to be used with varying types of arguments
b. Ta tude the name of the function from the linker (preventing duplicate symbols)
c. Toimplemant contaimer classes
d. To perrut the use of the debugger without the -gstabs flag

19- Consider this prototype for a templare function

temglale < clisy feng®
vuie foaiifem i

Which is the right way to call the foo function with an mteger arzument 17

&, foe a0
(B feo<in=ar
o & 8 "
G, foo<llena®L Y
d. oo <y
2 lon <im0

20- Considar the followmy defimtion
ferpale = elass few

S waktmal (fem a, Hem &)

i

l:_.'ul'l.T b}
FEFn w1
else

FEIIm o)

What restrictions are placed on the ltem daa type for a program that uses the maximal
function”

a.  The ltem data tvpe must be ither int, double, or float.

b, The Ttem data type must be ang of the built-in C++ data types.

() The Ttem data type must have a copy constructor and a > operator defined.
d. Mone of the above restrictions apply.
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21- When should a function be implementad as a template functon?

a  When the data types of the parameters all have copy constructors,
(B} When the function depends on an undertving data type.

¢ When the function is relatively short {(usualby just one Tne).

d. When the function only takes one argument

22- When vou wrile a lemplate class, whers does the template prefix oceur?

a  Befora the template class defimtion
b, Before each member funcion implementation.
¢ Befors any other template functions that manipulare the template class.
d. TWO of the abewe mswers are corract.
(! Al of the ), (b), and {c) are correct,

23- Which of the following stack operations could result in stack underflow?

a 13 empty
Ty pop
¢ push

d  Twoor more of the ahove answers
24- Which of the followmy apphications may use a stack?

a. A pareatheses balancing program,
b, Keeping track of local vanables at rum hme
¢ Syntag analvzer for a compiler,

JLEI:, All qfihc s,

25- Considear the following pseudocode:

clecdore o slach of eliaeacters
wieide ¢ (R e o clinrasters 1 e word io pead

i
L]

revd 0 charadter
s the chardcter on e slack

1

Wil [ ofie afock 4 ool empiy

. WEITe The sTOck’s top cRavacter fo 1he Screen
pop g characler off’ the stack

4
i

What is written lo the screen for the input "carpes™?

SErC

carpets
sleprac
CoAMTPpealss

plgd o=
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26-Here is an INCORRECT pseudocode for the algonthm which s supposed 1o detarmine
whether a sequence of parentheses 1s balanced

aclare o choracier stack
whide Camone

aemir Lk e Sadnle )
{
Feael o clorcler
T e characier i a
Frsdy 0T o ihe stock
elag ¢ the character ixa " and the stack 5 el empiy #
e a cRovracter off the siack
e
primd “wrbalmiced” ard exil
¢

4
print “Bolamced™

Which of these unbalanced sequences does the above code think 15 balanced?

Fat i

LI
<o A
e o

Throughoui this seciion, A iv a class and B is a new class devived from A,
Also, we honie these varviables:
{a
B
A&l

B &2

27- What C ++ ayntax 15 used to declare that a class Bz denved fromclass A7

class A derives B § . |,
claisaBfrom A § . };

L{.., class B public A { .. };

d. class B subelass of A S

T o

28- If a class B is derived from A, then which of the following terms desenbes A7

ancesmor class.
basz class.
parent class
d. suparclass
7@ All of the above
4/

n oot

29- Using the variable declarations at the top of this section, which ol the fellowing
assioriment statements are legal?

a a=h
b bh=3a
g. bl=hz
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d  Both (a) and (b) are lagal, but not (),
¢ Toth{a) and (c) are legal, but not (b).
@ Both (b and (c) are legal, bur not (a).

30- Consider the assizmment stalement a=t; {wath the variable declarations at the top of fhas
secton), Which answer 15 true”

{Ay The assignment statement 15 ﬂlegal
b, The assignment statement aclivates the A assipnment operator,
¢ The assignment statement activates the B assignment operator,
d  The assignment statement activates both A and B assignment operators.

M- Consider the declarations ar the top of this saction. Suppose there are mﬂmﬁms fhas
an argument of type A and g has an argument of tvpe B, Which statement 15 correet?

ly Bath fib) and gib) are legal function calls.
Hb} is legal, bat a{b} s not legal
fih] 13 rot Icgal bt gib) 15 legal
Neither fib) nor mib) 15 a legal Function funetion call

32- Consider the declarations ar the top of this secuon, Suppose ther@are two functions: fhas
an argument of fype A and g has an argument of tvpe B. Which statement is corraet?

a  Bothf{a) and gia) are lepal function calls
(bt fia)iglepal. but o(a) is not Jepal
c. fla)is not legal, but ofa) 15 legal.
d. Neither {{a) nor pla) is a legal function funcuon call

33- One difference between a quene and a stack s

a. Queues: raq:u:lre dynamic memory, but stacks do not
b.  Stacks requing dynamic memory, but queues do nol.

{53 Quevss use two ends of the structure; stacks use only one.
d. Stacks use two ends of the structure, queuss use only ong

34- If the characters TY, 'C°, B, "A' are placed 1o a quews (in tiar ovder), and then removed
one at a time, in what order will thew e remowed?

{a/ ABCD
h. ABDC
¢ DCAR
4 IDUBA

35- T have implemented the queus wath a linked list, keeping track of a front pointer and a

rear pomter Which ol these pointers will change during an insertion into a NONEMPTY
quene?

C/



